# OFFICE OF THE EXECUTIVE ENGINEEER,C-10 INDERLOK DELHI-110035.

No.NIQ No. 3/EEC-10/DUSIB/2019-20/D-752

### **SHORT NOTICE INVITING QUOTATIONS**

Executive Engineer, C-10, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies who are registered with CPWD, Railways, MES, Civil Wing of BSNL, M.C.D, DDA, NDMC, Delhi Jal Board, Irrigation & Flood Deptt. Delhi ,Delhi State PWD etc. in appropriate class on percentage rate basis in sealed cover for the following works:-

S.N	Name of work	Estimated Cost	Time of Completion
1.	N.O.W:- GIA to DUSIB Sub Head:- Carrying out Emergent Repair works in Slum Tenement No.89-C, Block B-12, Inderlok in AC-19 Sadar Bazar.	Rs. 98,745.00	30 days

The quotations along with copy of Work Experience (have been satisfactorily completed at least two works), PAN Card & Service tax Registration should reach to the office of the Executive Engineer, C-10, DUSIB, Inder Lok, Delhi-110035 latest by 2.00 PM on 02.12.2019 which shall be opened on the same day at 3.00 PM in the presence of intending quotationers or their representatives. The intending quotationer may collect the schedule of quantities and other information from the office of the Executive Engineer, C-10, DUSIB. The terms & Conditions of the NIQ are as follows:-

- 1. The work shall be carried out as per CPWD specifications Vol-I & II with upto date correction slips as per direction of Engineer-In-charge.
- 2. No T& P shall be issued by the Department.
- 3. No extra charges shall be paid except for the rates quoted.
- 4. Conditional quotations shall be liable to rejection.
- 5. For any disputes the matter shall be referred to SE-4/ DUSIB for final decision and the same shall be binding upon both the parties.
- 6. Necessary statutory deductions will be made as per prevailing Law.
- 7. Work shall be completed to the satisfaction of Engineer-in-charge.
- 8. Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.
- 9. NIQ will be issued to the intended participants only after verification of documents related to NIQ.

EXECUTIVE ENGINEER,C-10 D.U.S.I.B.(GNCTD)

Dated: 29.11.2019

#### NOTICE BOARD

#### Copy to:

- 1. SE, Circle-IV(DUSIB) for kind information please.
- 2. ACA-IV for kind information.

All AEs/C-10 4. AAO/C-10 5.HC/C-10 6.Office copy.

EXECUTIVE ENGINEER,C-10 D.U.S.I.B. (GNCTD)

## Abstract of Cost-Original Estimate

State

Delhi

Branch **DUSIB** 

Name of Work:

GIA to DUSIB.

Sub Head:- Carrying out Emergent Repair works in newly allotted Slum Tenement No. 89-C, Block

EE C-10

B-12, Inderlok in AC -19 Sadar Bazar.

ITEM No	CODE	SUB-HEADS AND ITEM OF WORK	QUANTITY	RATE (Rs)	UNIT	AMOUNT (Rs)	
1	15.56	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	122.54	22.40	sqm	2,744.90	SF
2	15.7	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.					de produces representations de produces de constructions de la constitución de la constit
2.1	15.7.4	In cement mortar	2	842.75	cum	1,685.50	SI
3	10.5	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3 mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer.	· · · · · · · · · · · · · · · · · · ·				
3.1	10.5.1	Using M.S. angles 40x40x6 mm for diagonal braces	8.19	2,870.25	sqm	23,507.35	SI
4	18.54	Providing and fixing PTMT bib cock of approved quality and colour.		d.			Contract National Contract
4.1	18.54.2	15 mm nominal bore, 122mm long, weighing not less than 99 gms	4	143.95	each	575.80	S
5	17.1	Providing and fixing water closet squatting pan (Indian type W.C. pan ) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:					
5.1	17.1.1	White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests	1	3,494.20	each	3,494.20	S
6	17.60	Providing and fixing trap of self cleansing design with screwed down or hinged grating with or without vent arm complete, including cost of cutting and making good the walls and floors:					Property and the control of the cont
6.1	17.60.1	100 mm inlet and 100 mm outlet			100 mm		
6.1.1	17.60.1.1	Sand cast iron S&S as per IS: 3989	1	1,034.45	each	1,034.45	S
7	18.10	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc. INTERNAL WORK - EXPOSED ON WALL					
7.1	18.10.2	20 mm dia nominal bore	10	224.15	metre	2,241.50	S
7.2	18.10.3	25 mm dia nominal bore	5	247.85	metre	1,239.25	S
8	13.1	12 mm cement plaster of mix :					Transmission .
8.1	13.1.1	1:4 (1 cement: 4 fine sand)	48.32	172.95	sqm	8,356.94	5
9	13.2	15 mm cement plaster on the rough side of single or half brick wall of mix:					

ITEM No	CODE	SUB-HEADS AND ITEM OF WORK	QUANTITY	RATE (Rs)	UNIT	AMOUNT (Rs)	
9.1	13.2.1	1:4 (1 cement: 4 fine sand)	48.32	200.25	sqm	9,676.08	S
10	13.16	6 mm cement plaster of mix :			*		comments
10.1	13.16.1	1:3 (1 cement : 3 fine sand)	25.9	143.80	sqm	3,724,42	S
11	12.41	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes.					hands reconstruction and the deposition of a processing section of the deposition of the deposition of the section of the sect
11.1	12.41.2	110 mm diameter	6	236.35	metre	1,418.10	S
12	12.42	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, feaving 10 mm gap for thermal expansion.					
12.1	12.42.5	Bend 87.5°				TO THE PROPERTY OF THE PROPERT	Account of
12.1.1	12.42.5.2	110 mm bend	4	113.10	each	452.40	SI
13	18.13	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing tee, including cutting and threading the pipe etc. complete:		entration in the control of the cont		30.0	A Commence of the comment of the com
13.1	18.13.1	25 to 40 mm nominal bore	1	394.15	each	394.15	SF
14	12.43	Providing and fixing unplasticised -PVC pipe clips of approved design to unplasticised - PVC rain water pipes by means of 50x50x50 mm hard wood plugs, screwed with M.S. screws of required length, including cutting brick work and fixing in cement mortar 1:4 (1 cement : 4 coarse sand) and making good the wall etc. complete.		٤	•		de en mente en recentar de entra compresa de la recenta de la compresa del la compresa de la compresa del la compresa de la compresa del la compresa de la compresa del la compresa del la compresa del l
14.1	12.43.2	110 mm	4	181.40	each	725.60	SF
15	12.22	Making khurras 45x45 cm with average minimum thickness of 5 cm cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate of 20 mm nominal size) over P.V.C. sheet 1 m x1 m x 400 micron, finished with 12 mm cement plaster 1:3 (1 cement : 3 coarse sand) and a coat of neat cement, rounding the edges and making and finishing the outlet complete.	2	187.60	each	375.20	SF
16	10.25	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.					websiel sid had topologypiel-tripping open typing parties.
16.1	10.25.2	In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	50	85.95	kg	4,297.50	SR
17	6.13	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level.					
17.1	6.13.1	Cement mortar 1:3 (1 cement :3 coarse sand)	2	708.70	sqm	1,417.40	SR
18	6.2	Brick work with common burnt clay modular bricks of class designation 7.5 in foundation and plinth in:					

TEM No	CODE	SUB-HEADS AND ITEM OF WORK	QUANTITY	RATE (Rs)	UNIT	AMOUNT (Rs)
19	15.60	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	5	120.55	cum	602.75
20	18.46	Providing and fixing G.I. Union in G.I. pipe including cutting and threading the pipe and making long screws etc. complete (New work):				
20.1	18.46.2	20 mm nominal bore	3	170.95	each	512.85
20.2	18.46.3	25 mm nominal bore	3	205.80	each	617.40
21	13.41	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade:				
21.1	13.41.1	New work (two or more coats) over and including water thinnable priming coat with cement primer	122.54	93.70	sqm .	11,482.00
22	14.54	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade:			recommendation of the control of the	
22.1	14.54.1	One or more coats on old work	50	51.30	sqm	2,565.00
23	11.36	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.		744.80	sqm	11,172.00
		Total				94,312.74
		Add PWD Cost Index @15.69% (On Estimate Total 94,312.74)	The state of the s			. 14,797.67
		Deduct As per GNCTD @9.5% (On Estimate Total 94,312.74+14,797.67)				- 10,365.49
1		Grand Total ,				98,744.92
	Construction of	Say		participant of the state of the	and the state of t	98,745.0

(Rupees Ninety Eight Thousand Seven Hundred Fourty Five only)

Junior Engineer

Assistant Engineer

**Executive Engineer**